58 BKAIT0omETOI VN  BUKARLAYR EOHHS
1 7]( —- 1349 - 1013 —12:00 120 FECETEEREE
12:00— 1205 AR E T2 A HE
5 X |~ 1547 £H | 1ABLCETREAR
= Py =| ETERTA
P 8
3 57 X ETECPPENERELERD
A + 1144 — 1452 — fi%_%?éétofiTﬁﬁiiﬁ-{EE}slﬁEL\ﬁ
~ 1707 :
5 = 1826~ 1911 = lsapormiccy. ETerress
& 5 ey BT | [PV EERTELET
XERITEZRELRY, V—FEZERBIA
7 w TORIGERTYET,
8 7J( §$ﬁ$$ﬁ-ﬁﬁééxéb<ﬁﬁﬁb\ﬁbi
- 950
S AN 1707 —
P - 1021
10 >z 1755 -
1 1 j: —- 1054 —- 0940
1 2 B - 1131 - 1003
1 3 % - 1212 —- 1015
14 | W
1 5 7J< —- 1434
1 6 7K g 16:56
17 | & =B
- 9.28
18 T 1044 —
13256 — 1611 —
19 B —~ 1740
20 =] 1411 — 1601 —
21 PN
22 2K
23 7K 1610 -
N —- 0928
24 >z 1652 -
—- (0959
25 T 1736 —
26 El - 1035 - 0927
>7 5 = 1116 = 1001
28 PN
29 ZK - 1307 -  11:09
SO 7K - 1433 - 1135
81 {:.E - 16:30




